i
i MONDAY TUESDAY
PN 1. What is the time? 1. What time is midway between
e e _ the two clock times?
i 8 2. How many days are in July?
3 3. Which two lines will fit to
complete the rectangle? 5 2. Round 112 to the nearest 100.
B . 3. Match.
4. How long is XY? X ¥ cone hexagon cylinder prism
] L}
am mm 4 —-7=13
} 5. mm=1cam 5. Order from the smallest to the largest.
617+ 19 Ix9 72 2x10 g %3
7. A dice was tossed 10 times. 1]2]3/4]5]6
The chance of a 4 on the next throw is; UL IIL 11T 6. 11+ 10 =
[ certain [11in4 ) 7. Fiona's mobile phone costs
[ 1 aoutof6 L1 1in6 her 45¢ for every 30 seconds.
i What is the cost for a minute?
8. Round 1209 to the nearest 100.
8. 1m= cm
9.1000-10=
. P RS =4
10. In 478, what is the place value of the 77 o :
10. Which set of weights are
il L1 100 L1 10 Ll needed to balance the seesaw? o
Py
| 11. 80 + 50 = Sl S
it A /mkg\ﬁo;«_\ B /s kg\/’;wk &ygj ]’I;)?J %9
! 12. 19275= 19200 + IS e B
| C Ao\ Aok D Joke Yo 1
‘ 13. Which shape is not a hexagon? /““‘EX[ A h A
11.0odd+odd=_____
S &
12.400+800=______
1490 2= 13. Name this 3D object.
15, __+8=20
16.20 x 8= 14. Qrder from shortest to longest time duration.
17.127 + 10 = 15 hrs  85mins  2hrs 117 mins
18. A kettle takes 3 minutes to boil one litre of water.
How long will it take to boil 17 litres? 15.12.17. 22 27
minutes What is the rule for this pattern? _
20. The school sold 500 raffle tickets for a prize of a 10-kg 17.29 +19 =
chocolate block! You have 1 ticket in the draw. ‘
Your chance of winning is: 18. 900 - 600 =
(1 certain L] impossible [ highly likely 19.2x9= + =
[l ikely [ highly unlikely L1 unlikely 20. 450 + _ 650
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2. In'a 50-m pool, you swam 100 m.

How many laps is this?

5 21+10=

6. What are the three months of spring?

7120~ 20=
8=
9.80-15=

10. Round 195 to the nearest 100.

11. Together, Aaron and Kieren bought 16 ice creams. .
Both bought the same amount.
How many ice creams did Aaron buy?

18 A0 0= oo vy

13. Alicia joined the four triangles
at pomt B and made a:

VX«

14. How many days are in June?

15. Sunrise occurs in the .

202009

square
D rectangle
L] rhombus

row, third
from the left.

(Wl

17. Draw (*%) :
00000
row, first on FRONT ROW
the right.

18. Draw * in the middle row, fourth from the left.

19. What is the position of @ ?

1. What time is midway between
the two clock times?

2:.100+ 10=

3. Ina 50-m pool, you swam 250 m.

How many laps did you swim?

4, +6=20

5. What 2D shape has eight sides?

6. Jen and Emma shared five apple
pies equally. What was Jen's share?

7. even + even =

8. How long since the
first message was sent?

02/05 1:05 PM

02/05

C

9.Match: 7 ¢ 3 %
@ afith
() athird ____

10. Name this 3D object.

(b) aquarter ____
(d) ahalf ___

11,39+ 11=
12. 14 444 =
18.24=10=

14 000 +
,240-100 =

14. (a) A tennis ball's mass is 60 g.
Which set of weights should
be used to balance it?

CAD CAR Dﬂ

(b) How many of those weights
are needed to balance theball?

15.510-8350=_ ...

16. -4=20

17. April, June, September and November each have

days.
18. Round 193 to the nearest 100.

19.3%B= + + -
20. ° 7 isinthe row, on 20. 200 + 900 =
the right.
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Monday

1. A juice company paid $1000 to a farmer for
oranges (at 50c per kg).

Week 7

How many kilograms did the farmer supply?
kg

2. Which town is 4 times
further than 7 km?

Y 28 km Mosman £

Tuesday
Colour the column graph.
1. Bow Street (Red)
2. Manor Street (Blue)

POST STOPS
40 - SCRSRIERES SERE EIOBEpAeIme
NUMBER
POSTAL OF 35 -
STREET POST 8
STOPS ’ 8 30 -
a
2 25 -
o
BOW 40 = 20
o
5
MANOR 15 =10~
5 -~
0
Bow Street Manor Street

Wednesday
1. Mary arranged 42 eclairs

into 6 rows of

2. Tony arranged 96 cupcakes

into 8 rows of

Thursday

1. A movie started at 5.15 pm.
It was 13 hours long.
There was a 15-minute break
halfway through the film.

At what time did the movie finish?
. 2

2. The difference between two numbers is 3
and their sum is 15.

The numbers are and
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I PROBLEM-SOLVING FRIDAY REVIEW

cm

+9=30 (17)10 mm =

(2)300+80=__ (i8)itis at sunset.

L@ A kettle took 2 minutes
to boil 1 litre of water.

@ (a) 8+8= How long does it take
el ?
(b) 80+ 80= to boil 17 litres?
@ What is the number one _\
before 20007 (201 In a 50-m pool, you
~ swam 200 m.
How many laps did
@ 17 (odd) + 18 (even) = you swimg P
] odd [ even
@ Round 123 to the Lzﬁ Name this
nearest 10. b 3D object.
9 20x9= @a What are the three
@ Double 140 months of spring?
10)350 + = 850

ROOM 3 BEST PETS
FOR A SCHOOLYARD

[ EERL B

WOMBAT

liti] This book

is standin
verticalli

horizontally|,

23 4
@J Which shape i NUMBER OF STUDENTS
" not a pentagon?

@ 11 voters chose an

@é] The were 3 votes difference
e — " between the
[16) An apple’s mass was
- equivalent to 2 x 20-g
weights.

and

N\

How many 20-g weights L@ How many students voted?

are equivalent to 3 apples?
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